<90 dxy > (um)

—0.15fre e R L O e B R EEEEE RE LRI LERTEREE
_0.2: L L .! L .......! L .9_0.2; M|
0 e N SR 3 I :
L + o r N
i  RERHR e ook tHAHIEHAFHHHEE |- e
8 -1 2 3 '3-—1 ; 2 3
10 1 TPlp())T (PCA tloobeamlinéLP 10 1 TPlp())T (PCA t%obeamlinélf)
—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM._fitted4_1000evt
10 : /g\ 10 3
80 T - { ERREEEEEEEEE EEEERERERES = 80-+{1-1{-Htr- (-
E : : A E
60 - FHE e < 60ttt
C : Tl o C
40:— T v 40:— """"""""""""
20F- 3 RRRIRIE SR 20F-H T g S SRS
OF+ T -{f- oo oF R Rt
~20F bl b e ~20F R R T R
—40F- A —40F - HE e
r + . . » T :
~60F |11 {1 R =60 {11 [ Mt b f e
-80F- 1 o =80ttt H - F
10_; AN .! AN .! L .......! L 9_1@; AR i L .......! L
L 11 R & vkt TR
ETORERETT Iy LA e e
0.9 FHATHEF Ao E :
E - b ARARREEE SRRRRERELELE

< op/p > (%)

Ratio

................................................

< & ¢@>(rad)
o
=
[¢)]
IIIIIIIIII

..........................

1

0.5

H
S
L

1

: ’ 2 3
8%, (Pca tbeamiindf

107

1

2 3
TPl;g)T (PCA t%obeamlin%



	Contents
	Page 1


